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Think of a ratio in terms of ‘parts’.
A ratio of 2 : 3 has 2 parts of one quantity for every 3 parts of another quantity and a total of 5 parts.

Using the unitary method to divide a quantity in a given ratio:
¢ Find the total number of parts in the ratio.

¢ Find the value of one part.

e Find the value of the number of parts required in the ratio.
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For example:
Share $20 in ratio of 2: 3.

Think of sharing $20 into 2 parts and 3 parts. -5 ($ 20 =35 parts ) N
Total number of parts = 2 + 3 = 5. ) 2 =1 part
Value of one part = $20 + 5 = $4. x ( $8=2 parts)

Therefore 2 parts = $8. and 3 parts = $12.

B Using fractions to divide a quantity in a given ratio:
number in ratio
total number of parts
¢ Calculate the fraction of the amount for each share of the ratio.
For example:
Share $20 in ratio of 2: 3.

* Fraction of the amount required =

Fractions of the amount required are % and %
Therefore §0f $20 = $8 and % of $20 = $12.

M To find a total quantity from a given ratio:
* Use the concept of ‘parts’ and the unitary method to find the value of one part and therefore
the value of the total parts can be calculated.
Or
* Use equivalent ratios to find the value of each quantity in the ratio and then add the numbers
together to find the total.
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o Find the total number of parts in the following ratios.
a 3:7 b 1:5 c 11:3 d 2:3:4

e The ratio of girls to boys in a class is 3:5.
a What fraction of the class is girls?
b What fraction of the class is boys?

0 The diagram shows four glasses that contain different amounts of cordial. Water is then added to
fill each glass. For each drink shown, what is the ratio of cordial to water?

==

o ‘What fraction of each of the drinks above is cordial?





